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7 B B &R £k 40 40 80 9.6 70.4
EEB kR Bk £k 41 39 80 8.4 71.6
311 B (5 — £k 44 42 86 14.4 71.6
AL xE B £k 43 48 91 19.2 71.8
v MR RE £k 55 48 103 31.2 71.8
(v =" M= £k 43 41 84 12.0 72.0
Igivs AR B— £k 48 45 93 20.4 72.6
v =H R £k 39 41 80 7.2 72.8
9L NEEF OET £k 41 39 80 7.2 72.8
1013z BR £k 41 39 80 7.2 72.8
1141 INTIRCS £k 44 42 86 13.2 72.8
12{31 Wi FZ £k 39 40 79 6.0 73.0
13(z ?mAR (B £k 41 38 79 6.0 73.0
1441 hnEE B £k 40 39 79 6.0 73.0
1541 e MR £k 42 43 85 12.0 73.0
1641 =17 BEBK £k 45 46 91 18.0 73.0
1741 & E=F £k 48 40 88 14.4 73.6
18z BIER S AL £k 53 47 100 26.4 73.6
191z 41 39 80 6.0 74.0
201z =fE #E £k 42 43 85 10.8 74.2
2141 BB == £k 43 42 85 10.8 74.2
22131 TE RE £k 49 42 91 16.8 74.2
231 BE —X Bk 44 40 84 9.6 14.4
24431 =B HRER Bk 42 42 84 9.6 14.4
2511 NeFR E= Bk 46 50 96 21.6 14.4
2611 FE H Bk 42 41 83 8.4 74.6
2711 8 EE Bk 41 42 83 8.4 74.6
2811 BE B £k 43 46 89 14.4 74.6
2911 hNe B Bk 47 48 95 20.4 74.6
301z B4R = £k 50 51 101 26.4 74.6
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314z BR = £k 38 38 76 1.2 74.8
3241 =E K= £k 41 41 82 7.2 74.8
331z BB #EK £k 55 63 118 43.2 74.8
3441 kg BE £k 40 47 87 12.0 75.0
351 BRIER  ZhE £k 46 47 93 18.0 75.0
361z Y BB £k 44 49 93 18.0 75.0
3741 BE &=E £k 53 46 99 24.0 75.0
381z AR &R £k 47 45 92 16.8 75.2
3911 Bl RAT £k 47 51 98 22.8 75.2
4011z 39 46 8b 9.6 75.4
4141 B4R P& £k 49 48 97 21.6 75.4
4241 FE OHHX £k 53 50 103 27.6 75.4
4311L 46 44 90 14.4 75.6
44431 43 47 90 14.4 75.6
4541 FE X £k 47 43 90 14.4 75.6
4641 ki Bl £k 47 49 96 20.4 75.6
4741 FE IETT £k 46 50 96 20.4 75.6
4841 Bk BE £k 41 42 83 1.2 75.8
49111 NG S £k 44 51 95 19.2 75.8
501z hnpE BBE £k 42 40 82 6.0 76.0
5141 BE Eid £k 42 46 88 12.0 76.0
5241 45 49 94 18.0 76.0
531z EAR F— Bk 47 47 94 18.0 76.0
5441 s i £k 45 49 94 18.0 76.0
5511 [ SIES Bk 43 44 87 10.8 76.2
561 44 42 86 9.6 76.4
571 BR BB £k 45 41 86 9.6 76.4
581z ERE B £k 43 49 92 15.6 76.4
591z fEE iR Bk 46 46 92 15.6 76.4
601z 2zl = £k 56 48 104 27.6 76.4
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6111 VNS £k 40 45 85 8.4 76.6
621 NS £k 45 45 90 13.2 76.8
631z ®BEE £k 46 44 90 13.2 76.8
6441 BB AUl £k 48 42 90 13.2 76.8
6511 BR & £k 54 48 102 25.2 76.8
6617 gl RE £k 55 53 108 31.2 76.8
6741 B4R MZE £k 43 39 82 4.8 77.2
6811 T TTE £k 48 46 94 16.8 77.2
691z N BELE £k 50 56 106 28.8 77.2
704z mEE Am £k 59 47 106 28.8 77.2
714z B #2417 £k 45 48 93 15.6 17.4
7241 ke =R8 £k 50 55 105 27.6 17.4
7311 FIER =7 £k 43 43 86 8.4 77.6
7441 B BEX £k 43 49 92 14.4 77.6
7541 E+RE A £k 49 43 92 14.4 77.6
761 53 50 103 25.2 77.8
TTHI kR 207 £k 46 44 90 12.0 78.0
78111 I R3E £k 44 46 90 12.0 78.0
7911 B 88X £k 47 49 96 18.0 78.0
801z ki B=— £k 62 52 114 36.0 78.0
8111 B4R # £k 53 48 101 22.8 78.2
8211 NS i Bk 44 44 88 9.6 718.4
831z 8 E#x £k 40 48 88 9.6 718.4
8441 RE tHN £k 40 47 87 8.4 78.6
8513z a4 R £k 48 45 93 14.4 78.6
861 AN v Bk 46 47 93 14.4 78.6
871 B E=E Bk 48 51 99 20.4 78.6
881iL BE AR £k 50 55 105 26.4 78.6
891z IR BER £k 56 60 116 37.2 78.8
901z i = £k 46 45 91 12.0 79.0
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9141 ik R3B £k 50 53 103 24.0 79.0
921 ®E RE £k 50 53 103 24.0 79.0
931z Ml £k 52 57 109 30.0 79.0
9441 Ml #Htb £k 51 51 102 22.8 79.2
951 EiE =— £k 48 46 94 14.4 79.6
9611 afE mF Bk 49 51 100 20.4 79.6
97HL TIE B £k 47 46 93 13.2 79.8
98fiL BB —% 53 48 51 99 19.2 79.8
99fiL gl EEZE Bk 53 52 105 25.2 79.8
1001z FE E— 53 54 51 105 25.2 79.8
1011z afE AKX Bk 76 71 147 67.2 79.8
10211 EaR —5 £k 48 43 91 10.8 80.2
1031z EBE 1RER 53 53 55 108 27.6 80.4
104411 HRE Bk 48 47 95 14.4 80.6
1051z B/ Rk Bk 47 53 100 19.2 80.8
1061z = 214 Bk 66 58 124 43.2 80.8
1071z o X Bk 47 52 99 18.0 81.0
10841 50 49 99 18.0 81.0
1091z S UPS Bk 57 59 116 34.8 81.2
1101 e A Bk 50 53 103 21.6 81.4
11111 BIR Bk 53 47 100 18.0 82.0
1124z ERE £k 48 50 98 15.6 82.4
11341 50 52 102 19.2 82.8
1144z BR = £k 55 51 106 22.8 83.2
1154z A BIE Bk 47 52 99 15.6 83.4
1164z T OB— £k 59 51 110 26.4 83.6
1174z NEFEFE B £k 61 59 120 33.6 86.4




